AT EMw  EZRBIE 8-47

=
Tz o nay T e T

1 EZETFIIE/NGE - W OME/NEBEEREEERM/)\E !
OFEfEH=TEMEETE " ERIERE ) AMEM -
OERBERT @ BEEREEZEIERS ?
OEMIEITRERSHE  HEARLAEIEA ZGERS - BHAEM ?
OFEETEERSHEE  MEARLBIETENESE » THRACREH
% o IBEARfAITE ? [100421% 4% ~ B4 ]
o )l R Y RV O
1,@@3?@’%}%@%% o
2.2 %A AV D IRITI PRAVE 555 ARl &
&@@&Twm%ﬁTﬁﬁﬁﬁﬁﬁﬁﬁo
LAATH T T
5. F | I RfR
R 7 BT T VRO i -

1 1
Bl1-—|=p|1-—
l( Efj 2[ Ef]

Hil S A T e (R -

OB (I HAT (A PR~ RLP S B e 7
%o 53 RIS R S GRS S O - DIPRTRE  ST E
RIEE 2 i TR R AR R TR e

> Al RO -
O BV RS R R - PP T R
AL £ IR - T AR -

2 BiF AR LT ESR TR AR REST :

WEE OEREME OERE ORME OFEREF - (966 kEK]

m(B)

W T FIE S BT 0 1 R By AR IV R -
3EFRME—BOMEY  ETUBETR - FENREOBENA—

=

-



8—48 fEBY &2 Sk a2y A FR AT

B o FENBRENETAT—K > FENFABRKOERELHEGRES - &
TENBREA  EFTEETENERSHREAERS (963 K BIH ]
L P
I AR RV o PN SR RYRG > e B A
T ORI I -
A RSB RPMATIRRE SR E—F 51,2005t © ZEMETE—F /430
RE - BEITR—FA15TT ﬁ#ﬁH%‘“/i’?/l‘Zlﬁ ° [87skat%
- [H=77, 52 H”‘;TV]E Vi=Ey o T %l;ﬁlgﬂ’ 1ZHF j;gj ]E,g]}l% E“E{\ﬁ?ﬂ'?}ﬁﬁ
?@‘J’ﬁﬁﬁ%ﬁﬁ'ﬁ%@rﬁmﬂﬁ'ﬁ oG RN %i ri“rr% LS el
IR R WIF*F:?$*3W%EEJIIHLﬂﬁ*ﬂﬁf’%ﬁﬂ* > AR I
fVDﬁ@,¢@W¢HE’HﬁW O IFR  RIRD 2 HE

7:[1 o

S BEEREENERERNBLETRBERXE—EHBENES -
(946 3 X ntt ]
[ 2 G

F%J%Eqﬁﬁﬁ#5ﬁ%u“@ﬁwwwﬁ L TERBY I FIER (- T
EHE S EERN T
6.There is only one doctor in a small town. For a 30-minute consultation,
the doctor charges a rich person twice as much as a poor person.
—Does the doctor practice price discrimination?
©Does the doctor’s pricing system redistribute consumer surplus? If so,
explain how? Is the doctor using resources efficiently? Explain your
answer.
®)If the doctor decided to charge everyone the maximum price that he
or she would be willing to pay, what would be the consumer surplus?
Is the market for medical service in this town efficient? [ 94:% iz f%r% ]
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7.In the electric power industry, residential customers have relatively
demands for electricity compared with large industrial users and

generally are charged rates.

(A)similar, similar (Belastic, lower (C)elastic, higher (D)inelastic, lower

(Binelastic, higher [ 100 FE 457 ~ 98 K% ]
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